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East Los Angeles College
Department of Mathematics

Math 115
Test4

Factor out the Greatest Common Factor
1.12x* + 8x 2. 6x° — 4x3
Factor by Grouping
3.x3+2x?2+5x+ 10 4. 4x3 — 6x% 4+ 10x - 15
Factor
5.x2+3x—-4 6.x2—-7x—-18
7. x* +5x— 14 8 x?—x-12
9. 2x2+11x—-6 10. 5x2 —3x -2
11. 6x2 +x—-1 12. 3x2—-17x+ 10
13. x2 -4 14. 9x2 -1
15. x2 — 16y? 16. x* - 25
17. x3 — 64 18. 27x3 +1
Solve for x
19.(x-5)(x-3)=0 20. x*=2x—-24=0
21. 2x2 +11x+15=0 22. x2-81=0
23. x(x—11)=-30 24, (x+6)(x+4)=15

Determine the following values approximated to the nearest hundredths.
25. What number is 42% of 320? 26. 65 is 120% of what number?

27. What percent of 52 is 128? 28. What is your name?
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